o2 199 pABCD &= HPAPHT o] 11
AD = 2AB, FD = DC = CE °]t}. AE ¢}
BF O @S Pt & o, /APB 9] 27|&
Tshof et

[ 2
[> Heh: 90°

(BAP = /AEF (9Z}) 0|1, AD = DE |22 /AED = (EAG
ojtt,

¥, /ABP = /BFD (%1Zh)o]1, BC = CF °|2& /FBC =
/BFC o]t}

LA+ /B =180° °|E& /ABP + /BAP = 90° |1, /APB =
90° o|tt.




2.

AABC o] ZAA A, B oA ¥ BC, CA o Y& $£=A49]
D, E, BE9AD o] wd2 F et & u, CE 9 Zo]=?

=
\1Ocm/D5crﬁC

17
@ %cm @ 4cm ©) zcm
19
(@) gcm ® 5 om

~&B

ABCE @ AACD (AASS) o|B2
BC:AC=CE:CD
(104+5):20=CE: 5
3:4=CE:5

4CE=15

E= T (cm)




O3 AZHY Foll Al SAS ®aQl 32 g9 &2 A2
C3cﬁ 120m’
A
~3cm” F H \6cm/
/m\ /\
L N<
--6cm- -~
© O-0 @ ©®-© ® -0

@eo-e ® 0-@

@HG:NO=TH:MN=1:2, /[HG = /MNO©°|E &
AHIG ¢ ANMO (SASES) ©|tt.




ME W ofN L
4 O i do

L
™)

[ 2
> HE: 168cm?

VD:VA=1:20]B&
AABC 9} ADEF 2] §o]9] H]&=4:1
4:1=48: ADEF, ADEF = 12(cm?)

oDABC = 2 X 48 = 36(cm?)

utebA, AZHE T o] Wl ol 48+12+36x3 = 168(cm?) O]t




oS 289 AAZLFABCD A BD = A D
ZyAolal, ,ABD € /BDC 9] o] 5EAS
BE, DF g gt} AP EBFD 7} vl &
2t LAEB 9] 327]%9 o/
B C

D 40° @ 50° (@)60°
@ 65° ® 75°

B

npE19] /gdof oJste] LADB = /BDF ©|t}.
(D 7} A 24l 3 S&o] HER

(ADB 9] 37]& 30°

822 /AEB 9] Z7]= 60° o]t}




A oA ¥ BC, CD o W&

HoYAPHSE ABCD 9] 314
Z}ZVE, F 2t & o, AB: AD £ 5}t
- D
\ gem
6cm 3
/ CF
B
@D 2:3 @ 1:2 ® 4:5 @ 1:3 ®)3:4
o=

(B = /D, /AEB = /AFD = 90° 9]
AABE &0 AADF (AA B
AE:AF=6:8=3:4

~ AB:AD=3:4




/ABE = LACD, (BAE

(CAD %—J EH, E]' D
= <®H 7> > @
Al - Z
=9
27]

@ AABC o AAED ©O AAEF @ ADFC

© AAFD oo ACFB ® AABF o AADE

@ AABC o AADC ® AABE ¢ AACD

®Da.0e 200 0606 @66 606

B

/ABE = /ACD, /BAE = /CAD ©]|2 & AABE ¢ AACD
(AAFS) @

AABC €} AAED ©f|A

/(BAC = (EAD , AB: AE=AC: AD

(-- AABE 0 AACD ) 0|22 SAS B-go|c},

AABC @ AAED (SAS &2) ---O




t+& 1o A AC//DE ©|3 EFLAB ¥
Il AABC 9] ¥ o]& L5 ?

© 129cm? @ 13.8cm?
®)14.7em? @ 15.6 cm?
® 16.5cm?

~&B ‘

ABDE = % X 5x 3= "7.5(cm?)

ADBE @ AABC
BD : BA=5:7
ADBE : AABC = 25 : 49
7.5 : AABC = 25 : 49

o AABC = 14.7(cm?)




th T1H oA AR ABCD = Aol

Q

E
1, 4428 AFDE & Bl o]t DE —
5xcm, AE = (3x+2y)em, CF = (18—x)cm A
Ao, x+y=? E
@® 5cm @)6cm ® T7em B
@ 8cm ® 9cm
A}7He AFDE £ HPA Mo 7, &F = FD 0|22 A7
AFDE = "FEEo|o.
uzbA ] W) ol BE 2} E, AX2ge] = fzhel
ol 21 A7t A= 2 R o|5R5122 DE = AE = CF

oltt.

wEkA] 5x = 18 — x, x = 3cm ©|T}

5x = 3x+2y, 15 =9+ 2y, y = 3cm ©]t}.
S x+y=06(cm)




]_0. O]—E]] _:I_%]Oﬂ/d E = 3CII’1, % = 4C1’I1, TC = 5cm ?:‘_1 HH, 731/\]-7_],"551
DBFE 9] st ¥ 9] Zo|& 1a}H?

® 2cm ©) =iy 3 LU
@ Sem ® 1lcm

B ‘
AABCAADE (AA H3)0|B=2
AD . AD — BC : DE
4x}213 <) & 99l DE & a (cm) 27 5H
3:(3-a)=4:a
12
T

12
. —Ccm
7

a




11. t& I%9lA BAE = /CAD, /ABE = A

/ACD ¥ uff, TF& = AABC 9} & =391
7129 7

@O AABE @ AADC ® ABCF
@)sAED  ® aCDF

~&B

/ABE = /ACD, /BAE = /CAD ©|E2=2

AABE 2 AACD (AA B2)

AABC 9} AAED ©f|A4] /BAC = /EAD , AB: AE = AC : AD
(- AABE ¢ AACD ) ©|E& SAS F-go|t}.

.. AABC ¢OAAED (SAS &)




M)

12. o 73} Zo] AABC 9] Y59
MBS I9)ch
AFDP = 6cm?, APHG = 24cm?, AIPE = 54cm? ¢ o, AABC 9
Hol g a7

S

H o

o 1o

AP E AL 7 Ho

o
ol

A
E
D E
B H G C
@ 180 cm? @ 195 cm? 3)216 cm?
@ 220 cm? ® 228 cm?

DP:HG: PE=1:2:3
AFDP : AABC = 12 : 62
. AABC = 6 x 62 = 216 cm?




13.

oS I8 A gAPCD & mp &
thAB = BC ¢ W), /BCD 9] 7717

@® 69° @ 73° ® 76°
@)79° ® 82°

o

AC £ olod

/BCA = (180° - 62°) + 2 = 59°
£ACD = (180° - 140°) + 2 = 20°
.. /BCD = /BCA + /ACD = 79°




14. th& o)A AB = 6cm, BC = 8cm & ©, AAHZHS DBFE ¢ &

#e] Zolg o7

A
/
! E
/
1D
601\11 [ | L]
\
\
B—L >C
T~-8em-—”
24 26 7
@) 97cm @) Ecm ® Zem
(@) Jem ® 3 om

ol
<

B

AADE ¢} AABC A A= 3F

/ADE = /ABC °|22

AADE @ AABC (AA E2)

AA21g 9] 5 9] Lol x (cm) o 5
AB:BC = AD: DE

6:8=(6-x):x

3:4=(6-x):x

3x =24 —-4x

24

X 7




15. o= ™4 A=z J5d 44%

o&
o
:
o
>

7] 017 7129

@O AFDC o AABC

Q

@ AADE o AFBE B
3® AADE ™ AABC
@AEBC O AEDC

® AFDC o AADE

~&B

@ AABC ¢} AFDC 94 /C = 3%, /ABC = /FDC = 90°
.. AABC O AFDC (AA el EI)

@ AADE ¢} AFBE ©|A /DAE = /BFE , /EDA = /EBF =
90°

.. AADE & AFBE (AA H+)

® AADE ¢} AABC 94 /A = 2%, /EDA = /CBA = 90°
.. AADE AABC (AA §2)

@2} B ol 2J5 AADE 2 AABC @ AFBE .. AABC ¢ AFBE
® @,®] 25} . AFDC @ AADE




